PARTS LIST

ITEM

QTY|STOCK NUMBER

DESCRIPTION

1 3 |psc488 assembly psc488

2 1 |dwgl1696 front panel RA19-3PSC
3 2 |handle 76 handle 76 2U

4 4 |m4x10 A2 din7500M m4x10 count T20

5 | 12 |[m3x8 A2 din7500C m3x8 ro he T10

6 | 12 [m3 BN din433 washer m3

SURFACE TREATMENT:

MAT:

DIM: n)m‘ToI.::tO.Z
Name pesiener | Delta Elektronika B.V.
S.Janse VISSERSDIJK 4
DATE 4301 ND ZIERIKZEE
REVISIONS DATE |INAME 22-04-2013 NETHERLANDS

RemArRk: PSCL88

TimLe: RA19-3-PSC
assembly frontpanel

DWG A3




